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1. Find the mean deviation using arithmetic mean of the

following data:

16,22,26,14,12,15,13,18,

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Ng3RStfvwxne

2. Find the deviation using median of the following
observations:

15,19,20,28,16.

o Watch Video Solution

3. Find the mean deviation using arithmetic mean from the

folloiwng observations:

x; | 5|15|25]|35/|45
fi | 5]6[15]16]6.

° Watch Video Solution



https://dl.doubtnut.com/l/_SxAWX2rYkluU
https://dl.doubtnut.com/l/_3sy4fYLVwOxG

4. Find the mean deviation using meadian from the following

data:

Term 10{20{30}4050}60} 70180
frequency | 10| 15|20 |50 |40 30| 20 |10.

© Watch video Solution

5. Find the mean deviation using arithmetic mean from the

following table:

Class- 0-10{10-20{20—-30{30-40{40-50
interval

Frequency 5 6 15 16 6

° Watch Video Solution



https://dl.doubtnut.com/l/_bqSQDyV5xz0Z
https://dl.doubtnut.com/l/_gt9WlNwBhsHy

6. Find the mean deviation using median:

Class- 0-10 |10—20]20-30]30-40140-50
interval
Frequency 5 12 20 9 4

o Watch Video Solution

7.Find the mean deviation by short cut method.

Class-interval Frequency |
1020 B -
20-30 3
30-40 8
40-50 14
50-60 8
60-70 3

70-80 2

o Watch Video Solution



https://dl.doubtnut.com/l/_aYlF8Jb30pbW
https://dl.doubtnut.com/l/_em3zMBytVaNv

8. Find the standard deviation of 8,11,14,17,20,23,26.

o Watch Video Solution

9. Find the variance and standard deviation from the

following data:

x; 2 | 4 | 6 8 1 10
il 7 [ 5 7 | 3 2

o Watch Video Solution

10. Find the standard deviation from the following
observations:

15,18,13,20,17,10,16,19,22,20.

° Watch Video Solution



https://dl.doubtnut.com/l/_uYTRrbpVs3KV
https://dl.doubtnut.com/l/_RwQFj4exeyBq
https://dl.doubtnut.com/l/_sPZcdG2am4iP

11. Find the standard deviation from the following data:

X; 1 2 3 | 4 5
fi 16 21 10 | 7 8

o Watch Video Solution

12. Find the standard deviation by using 20 as assumed

mean.

Class- 0-10{10-20}20-30{30-40 ‘40—50
interval

Frequency 3 6 13 10 5

o Watch Video Solution



https://dl.doubtnut.com/l/_sPZcdG2am4iP
https://dl.doubtnut.com/l/_L9EmrOlJPnKT
https://dl.doubtnut.com/l/_DzfXZiMl07Lw

13. The arithmetic means of two distributions are 10 and 15
and their S.D. are 2 and 2.5 respectively. Find their coefficient

of variation.

o Watch Video Solution

14. The mean and S.D. of the income of the employers of two

banks are as follows:

Bank | Mean income (in %) S.D. (in3)
A 3200 160
B 3500 ‘ 140

Compare the coefficient of variation of the income of the

employees of the two banks.

o Watch Video Solution



https://dl.doubtnut.com/l/_MkkNlyBfNmkH
https://dl.doubtnut.com/l/_QK4TBQ9rZhFB

Exercise

1. Find the mean deviation using arithmetic mean for the
following observations:
(a) 68,32,49,54,21,38,59,41,66,76

(b) 28,12,17,35,22,18,5,32

° Watch Video Solution

2. Find the mean deviation using median for the following
observations:
(a) 17,25,9,12,18,26,21

(b) 6,10,11,15,9,7,15,16,5

o Watch Video Solution



https://dl.doubtnut.com/l/_9OaeujlDVCDW
https://dl.doubtnut.com/l/_Oy4icC6UZtuD
https://dl.doubtnut.com/l/_2XHAyhAV5avt

3. Find the mean deviation using arithmetic mean for the

following

@ | xi 10| 201 30 ] 40 | 50 |
fi 1 2 3 3 1

)| x | 10| 15 | 20 | 30 | 40 | 50
fi 8 121 15}10} 31| 2

o Watch Video Solution

4. Find the mean deviation using median for the following

datas:

@ |[x |13][14]|15]16]|17[18]19]20
fl1]2)3l4|5|4]3]2

) [x; [21]22]23]24]25]26]27]|28]29]30
fl7]lo]s8]s]|6l4al4]3]0]f1]

° Watch Video Solution



https://dl.doubtnut.com/l/_2XHAyhAV5avt
https://dl.doubtnut.com/l/_wFbzMf0s7N30
https://dl.doubtnut.com/l/_z2OmvptU7Nt5

5. Find the standard deviation from the following datas:

@[x o] 2]4a]e6 | 8 |10]
[l 3] 2]5s |6 (3] 1]
\

f—

| x| 6789 |10]11]12
fil3]6]9 13|87 4

© x 5 10 | 15 | 20 | 25
fi 5 6 12 | 16 | 11

° Watch Video Solution

6. Find the standard deviation from the following datas,
using assumed mean:
(a) 112,117,121,125,130

(b) 37,43,48,34,41,39,46,40

° Watch Video Solution



https://dl.doubtnut.com/l/_z2OmvptU7Nt5
https://dl.doubtnut.com/l/_lYkAtuFNOcwU

7. Find the standard deviation from the following datas,

using assumed mean:

(@) x; 8 12 16 | 20 | 24 | 28
fi 9 11 | 17 | 14 6 3

M) x; ] 511011512025} 30]{35]40
fill1l2117124121114} 6 | 41 2

° Watch Video Solution

8. Find the standard deviation from the following datas,

using assumed mean:


https://dl.doubtnut.com/l/_E8Vn3domfF58
https://dl.doubtnut.com/l/_nagV808idh5U

() Frequency |
10-30 7
30-50 11
50 70 12
70900 6
00110 11

(b) Cluss—inlcrv:nl" ~ Frequency
18-24” ) N 13 N
24 30 | """"‘T“"“”““‘
30 36 - 206
36 142 M_l.‘s N
42498 [
48 H4q 7 N

Class-interval

° Watch Video Solution

9. The mean and variance of 5 observations are respectively

4.4 and 8.24. If three observation are 1,2 and 4 then find the

remaining two observations.



https://dl.doubtnut.com/l/_nagV808idh5U
https://dl.doubtnut.com/l/_ViGgcYO1csC9

| @9 Watch Video Solution

10. The mean and variance of 8 observations are respectively
9 and 9.25. If six observations are 4,6,7,8,12 and 13 then find

the remaining two observations.

° Watch Video Solution

1. The mean and standard deviation of 100 observations
were calculated as 40 and 5.1 respectively by a student who
took by mistake 50 instead of 40 for one observation. What

are the correct mean sand standard deviation?

° Watch Video Solution



https://dl.doubtnut.com/l/_ViGgcYO1csC9
https://dl.doubtnut.com/l/_c1G875ImLVC3
https://dl.doubtnut.com/l/_M17aU7osN3kB

12. The mean and standard deviation of 20 observations are
found to be 10 and 2, respectively. One rechecking, it was
found that an observation 8 was incorrect. Calculate the
correct mean and standard deviation in each of the following

cases. (i) If

° Watch Video Solution

13. Calculate the mean and standard deviation of first n

natural numbers.

o Watch Video Solution

14. Calculate the mean and standard deviation of first natural

numbers.


https://dl.doubtnut.com/l/_HkgVqIPcw6ko
https://dl.doubtnut.com/l/_uggfJnZBliPy
https://dl.doubtnut.com/l/_eD5n551TBfDo

° Watch Video Solution

15. Find out the standard deviation from the following

distribution table:

Class- |0-10|10-20| .0-30 -‘0-40‘40-95\
interval 1
Frequency| 6 Y 12 8 \ 15 J

° Watch Video Solution

16. If the coefficients of variations for two distributions are

40 and 50 and their S.D. are 16 and 25 respectively. Find their

means.

o Watch Video Solution



https://dl.doubtnut.com/l/_eD5n551TBfDo
https://dl.doubtnut.com/l/_brB1j6KgV8EW
https://dl.doubtnut.com/l/_PXO3cTe3ray6
https://dl.doubtnut.com/l/_eeoKG3wkaPK8

17. Find which group is more variable:

Class-interval Group A Group B \

0-10 15 18 |
10-20 17 20 |
20-30 22 24 |
30-40 18 22 |

40-50 14 17

50-60 10 12

60-70 4 7

° Watch Video Solution

18. The arithmetic means of two distributions are 20 and 35
and their S.D. are 5 and 7 respectively. Find their coefficient of

variation.

o Watch Video Solution



https://dl.doubtnut.com/l/_eeoKG3wkaPK8
https://dl.doubtnut.com/l/_N4LMpjHfL97h

19. Find which group is more variable:

Class-interval Group X Group Y
0-5 6 4
5-10 12 8
10-15 17 15
15-20 13 11
20-25 9 8
25-30 3 4

o Watch Video Solution

20. In the following table, the mean and S.D. of the income of
the employees of two factories are given. Find the variability

of their average income.

Factory Mean (in 2) S.D.(in?)
P 1200 150
Q 1600 160



https://dl.doubtnut.com/l/_4MzqPTG5HcQe
https://dl.doubtnut.com/l/_ykqVFz7zWf9m

l & Watch Video Solution

Ncert Questions

1. Find the mean deviation about the mean for the data :

4,7,8,9,10, 12, 13, 17

o Watch Video Solution

2. Calculate the mean deviation from the mean for the

following data:39,70,48,42,55,63,46,54,44

o Watch Video Solution



https://dl.doubtnut.com/l/_ykqVFz7zWf9m
https://dl.doubtnut.com/l/_7KjfporWLBLi
https://dl.doubtnut.com/l/_pqDErgLGG9QR

3. Find the mean deviation about the median for the data :

13,17, 16, 14, 11, 13, 10, 16, 11, 18, 12, 17

o Watch Video Solution

4, Find the mean deviation about the median for the data :

36, 72, 46, 42, 60, 45, 53, 46, 51, 49

° Watch Video Solution

5.Find the mean , mean deviation about the mean , variance

and standard deviation for the following data

fi 7 4 6 3 5

| a war_a_L vl _ e~_01__n°_


https://dl.doubtnut.com/l/_OeVj8JEUKUgu
https://dl.doubtnut.com/l/_nyQeVI2fhIVZ
https://dl.doubtnut.com/l/_WKqxkAudnvdy
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6. Find the mean deviation about the mean for the data is

Question:

x; |10 | 30 | 50 | 70 | 90
fi| 4 |24|28|16]| 8

o Watch Video Solution

7. Find the mean deviation about the median for the data in

Question

T TR R
filjslela]2{2]e

o Watch Video Solution



https://dl.doubtnut.com/l/_WKqxkAudnvdy
https://dl.doubtnut.com/l/_3kqU84RK6ejF
https://dl.doubtnut.com/l/_8KPmYuxuREvm

8.Find the mean deviation from the median for the following

data:

_.&__15'11 27 | 30 | 35
f,13]|5]6[7]s8

° Watch Video Solution

9. Find the mean deviation about the mean for the data in

Question:

Income | 0- {100-{200-| 300- (400-|500- | 600- | 700-
per day 100|200 | 300 | 400 | 500 | 600 | 700 | 800

Number

of 4| 8 9 10| 7 5 4 3
persons

| ° WMiabd. V1t daa Al ibhtaa


https://dl.doubtnut.com/l/_8KPmYuxuREvm
https://dl.doubtnut.com/l/_ahLnDRTl7vmJ
https://dl.doubtnut.com/l/_EdNF4ZZx0t9n

L _vVAllll VIUCTUY JUIULIVII J

10. Find the mean deviation about the mean for the data in

Question:

Height | 95- | 105- | 115- | 125- | 135- | 145.
(incm) | 105 | 115 | 125 | 135 | 145 | 155
Number
of boys

° Watch Video Solution

11. Find the mean deviation about median for the following

data:

Marks | 0-10 [10-2020-30|30-40|40-50|50-60

Number I
of girls 6 8 14 16 4 w"' 2

° Watch Video Solution



https://dl.doubtnut.com/l/_EdNF4ZZx0t9n
https://dl.doubtnut.com/l/_WmerXuH8Zkmq
https://dl.doubtnut.com/l/_YEUZ3iggp0ZL

12. Calculate the mean deviatioin about median age for the

age distribution of 100 persons given below:

Agein | 16- | 21- | 26- | 31- | 36- | 41- | 46- | 51-
years | 20 | 25 | 30 | 35| 40 | 45 | 50 | 55

Number| 5 6 {1214 {26{12{16 | 9

o Watch Video Solution

13. Find the mean variance and standard deviation for the

following data: 6,7,10,12,13,4,8,12

° Watch Video Solution



https://dl.doubtnut.com/l/_YEUZ3iggp0ZL
https://dl.doubtnut.com/l/_1Unc5yKwQjoh
https://dl.doubtnut.com/l/_Bg9B9umLW9CQ

14. Find the mean and variance for each of the data : First n

natural numbers

o Watch Video Solution

15. Find the mean and variance for each of the data : First 10

multiples of 3.

° Watch Video Solution

16. Find the mean and variance for each of the data in

Question:

x; | 6 {10]14]18]24 28|30
fil214|7]12{8|4]3



https://dl.doubtnut.com/l/_ETwlvzf9ND7e
https://dl.doubtnut.com/l/_7lddGLEafh7A
https://dl.doubtnut.com/l/_nB3Ot8sXWR5N

\ o Watch Video Solution

17. Find the mean and variance for each of the data in

Question:

x; |92]93|97]|98]| 102 104|109
132326 |3 3|

o Watch Video Solution

18. Find the mean and standard deviation using short cut

method

Eso[m 62 & [ en I es [ es | Ter i ies
Gz 9 12 P Tl ol 2 =

° Watch Video Solution



https://dl.doubtnut.com/l/_nB3Ot8sXWR5N
https://dl.doubtnut.com/l/_FKmiVtQx5u3w
https://dl.doubtnut.com/l/_uTzxwD7yZyIP

19. Find the mean and variance for the following frequency

distributions in

o- |30- | 60- | 90- | 120-{150-|180-
Classes | 30 | 60 | 90 | 120|150 180|210

Frequencies| 2 3 5 110 ] 3 5 2

o Watch Video Solution

20. Find the mean and variance for the following frequency

distributions in

Classes 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequencies 5 8 15 16 6

JI

° Watch Video Solution



https://dl.doubtnut.com/l/_uxQdRQBl0Cta
https://dl.doubtnut.com/l/_UNeyDGHUWiFG

21. Find the mean variance and standard deviation using

short-cut method

Height 70-175-|80-|85-|90-| 95- |100-{105-{110-
(in cm) 75180185190{95|100{105|110{115

No. of
children

3147|7159 |6 |63

° Watch Video Solution

22. The diameter of circles (in mm) drawn in a design are

given below:

Diameters |33-36]37-40|41-44 | 45-48 | 49-52
No. of circles | 15 17 21 22 25

Calculate the standard deviation and mean diameter of the

circles.

o Watch Video Solution



https://dl.doubtnut.com/l/_f4rFQFSZgBCa
https://dl.doubtnut.com/l/_V1xdKwqeQP1v

23. From the data given below state which group is more

variable A or B?

Marks|10-20{20-30{30-40|40-50{50-60|60-70 70-80]

G
rgup 9 | 17 | 32 | 33|40 | 10| °©

Group 10

B 20 | 30 | 25 | 43 15 7

° Watch Video Solution

24.From the prices of shares X and Y below, find out which is
more stable in value X 35 54 52 53 56 58 52 50 5149 .Y 108

107 105 105 106 107 104 103 104 101

° Watch Video Solution



https://dl.doubtnut.com/l/_V1xdKwqeQP1v
https://dl.doubtnut.com/l/_KFcvwVGbl4MH
https://dl.doubtnut.com/l/_uThWrYqLY3LF

25. An analysis of monthly wages paid to workers intwo firms
A and B, belonging to the same industry, gives the following

results:

Firm A Firm B ‘\
No. of wage earners 586 648 \

Mean of monthly wages X 5253 % 5253 \
Variance of the distribution | 100 {121 of wages\

(i) Which firm A or B pays larger amount as monthly wages?
(ii) Which firm A or B shows greater variability in individual

wages?

° Watch Video Solution

26. The following is ht record of goals scored by team A in a

football session For the team b, mean number of goals


https://dl.doubtnut.com/l/_QkPiQDv10FBI
https://dl.doubtnut.com/l/_h5U2tnsyHCBD

scored per match was 2 with a standard deviation 1.25 goals.

Find which team may be considered more consistent?

° Watch Video Solution

27. The sum and sum of squares corresponding to length =
(in cm) and weight y (in gm) of 50 plant products are given

below

50 50 50 n
Y m;=212,) £2=0902.8 ) y =261, » yi2=1457.6
i=1 i=1 i=1 i=1

Which is more varying the length or weight?

o Watch Video Solution

Miscellaneous Exercise



https://dl.doubtnut.com/l/_h5U2tnsyHCBD
https://dl.doubtnut.com/l/_saeGEmyUoMII

1. The mean and variance of eight observations are 9 and
9.25, respectively. If six of the observations are 6, 7, 10, 12, 12

and 13, find the remaining two observations.

° Watch Video Solution

2. The mean and variance of 7 observations are 8 and 16,
respectively. If five of the observations are 2, 4, 10, 12, 14. Find

the remaining two observations.

° Watch Video Solution

3. The mean and standard deviation of six observations are 8

and 4, respectively. If each observation is multiplied by 3, find


https://dl.doubtnut.com/l/_C75EJlkgLhbC
https://dl.doubtnut.com/l/_TqQFqXxt3jk4
https://dl.doubtnut.com/l/_E48VZJd1HzCI

the new mean and new standard deviation of the resulting

observations.

° Watch Video Solution

4. Given that Z is the mean and o? is the variance of n
observations xq, x, a€a€,a€,a€,. ,,. Prove that the mean

and variance of the observations

axri, ary, axrs, a€a€a€a€. ax, are ax and a’e?

respectively, (a # 0)

° Watch Video Solution

5. The mean and standard deviation of 20 observations are

found to be 10 and 2, respectively. One rechecking, it was


https://dl.doubtnut.com/l/_E48VZJd1HzCI
https://dl.doubtnut.com/l/_kPbZC5YjzLh5
https://dl.doubtnut.com/l/_pAvmJHykPGJq

found that an observation 8 was incorrect. Calculate the
correct mean and standard deviation in each of the following

cases. (i) If wrong item is omitted (ii) If it is replaced by 12.

° Watch Video Solution

6. The mean and standard deviation of marks obtained by 50
students of a class in three subjects, Mathematics, Physics

and Chemistry are given below:

Subject | Mathematics | Physics | Chemistry

Mean 42 32 40.9
Standard
deviation 12 15 20

Which of the three subjects shows the highest variability in

marks and which shows the lowest?

o Watch Video Solution



https://dl.doubtnut.com/l/_pAvmJHykPGJq
https://dl.doubtnut.com/l/_sKSBtI2k8PT4
https://dl.doubtnut.com/l/_yFvuwanpDWof

7. The mean and standard deviation of a group of 100
observations were found to be 20 and 3, respectively. Later
on it was found that three observations were incorrect,
which are recorded as 21, 21 and 18. Find the mean and

standard deviation if the

° Watch Video Solution



https://dl.doubtnut.com/l/_yFvuwanpDWof

